GENERAL NOTES:

1. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.£.0.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH
THE 2007 EDITION OF THE FLORIDA BUILDING CODE.
THIS STORM PANEL SHALL NOT BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES (MIAMI-DADE / BROWARD COUNTIES).
DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1608 OF THE AGOVE MENTIONED CODE, FOR A BASIC WIND SPEED AS
REQUIRED BY THE JURISDICTION WHERE STORM PANEL WILL BE INSTALLED, AND FOR A DIRECTIONALITY FACTOR Kd=0.85, IN
ACCORDANCE WITH ASCE 7--05 STANDARD. IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.ED. AS TESTED WERE
NOT OVER STRESSED, A 33X INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NQT USED IN THEIR ANALYSIS. A DURATION
FACTOR CD=1.60 WAS USED FOR VERIFICATION OF FASTENERS IN WOOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1609.1.2 OF THE
ABOVE MENTIONED CODE AS PER ATL REPORTS # 0121.01-98R, # 0329.01-00, #0512.01-03 AND 0617.01-04 AS PER SSTD 12-399
STANDARD.

2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY ASTM A—~653, GRADE 40, WITH G—60 GALVANIZED STEEL
DESIGNATION.

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED.
STORM PANEL COMPONENTS ® STUDDED PLATE AND SNAP CAP ARE FPATENT PENDING.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS! SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018
W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH.

5. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AIS| 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH.

6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NGTED)

(A) TO EXISTING POURED CONCRETE:
— 1/4" # TAPCON ANCHORS AS MANUFACTURED BY Il.1.W. BUILDEX.
—~ 1/4" & CF TAP—-GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU—FAST CORPORATION.
— /4" 8 ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC.
— 1/4" & x 7/8" CALK~IN ANCHORS OR ELCO mole & female "PANELMATE" AS MANUFACTURED
8Y POWER FASTENERS, INC. AND ELCO FASTENING SYSTEMS LLC., RESPECTIVELY.
— 1/4" # x 3/47 ALL POINTS SOLID~SET ANCHORS AS DISTRIGUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

NOTES:
A1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS IS 1 3/4% FOR ZAMAC NAILIN ANCHORS IS 1 3/8% FOR
ELCO PANELMATE ANCHORS IS 1 3/4%, AND FOR CF TAP—GRIP ANCHORS IS 1 1/4"

AZ) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTQ STUCCO SHALL
BE PERMITTED. 1/4"9—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR
WALLS WITH NO STUCCO.

A.3) MINIMUM EMBEDMENT OF 1/4°8 x 3/4" ALL POINTS SOLID—-SET ANCHORS SHALL BE 7/8" INTO THE POURED CONCRETE. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” #-20 S.5. MACHINE SCREW USED SHALL BE 1 1,/2" LONG MINIMUM
SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

A4) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS
INDICATED ON NOTES A1) & A.2) ABOVE.

(8) TO EXISTING CONCRETE BLOCK WALL:
— 1/4" @ TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX.
— 1/4” @ CF TAP-GRIP ANCHORS (BERTHA STUD-CON), AS MANUFACTURED BY TRU—FAST CORPORATION.
— 1/4” @ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC.
— 1/4” @ x 7,/8" CALK—IN ANCHORS OR ELCO male & femcle "PANELMATE" AS MANUFACTURED
8Y POWER FASTENERS, INC. AND ELCO FASTENING SYSTEMS LLC., RESPECTIVELY.
— 1/4” & x 3/4" ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.
— 1/4" @ RED HEAD DYNABOLT SLEEVE ANCHORS AS MANUFACTURED 8Y |.T.W. BUILDEX.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON, ELCO PANELMATE, AND. CF TAP—GRIP ANCHORS INTO CONCRETE BLOCK
UNIT SHALL BE 1 1/4% 1 3/8" FOR ZAMAC NAILIN ANCHORS AND 1 1/8" FOR RED HEAD DYNABOLT SLEEVE ANCHORS

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO STUCCO
SHALL BE PERMITTED. 1/4'6—20 SCREWS USED SHALL BE 1 1/2° LONG MINIMUM SHOULD STUCCO EXIST, AND 1% MINIMUM
FOR WALLS WITH NO STUCCO.

B.3) MINIMUM EMBEDMENT OF 1/4°@ x 3/4” ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE BLOCK. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" @—20 S5.5. MACHINE SCREW USED SHALL BE 1 1/2" LONG MINIMUM
SHOULD STUCCO EXIST, AND 1" MINMUM FOR WALLS WITH NO STUCCO.

B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG
ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES IN 8.1) AND
B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION OETAILS SHOWN ON SECTIONS 1 THRU 8 (SHEET 2 & J OF 8)
EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ATTACHED TO INSURE PROFER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH THE
BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.

10.  (a) THIS P.E.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT: ie.
WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.O.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT,
BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION
SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS P.ED. WILL BE CONSIDERED INVALID IF ALTERED 8Y ANY MEANS.

() SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WiLL BECOME THE
ENGINEER OF RECORD (E.Q.R) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.E.D.
ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

(e) M\M\mm ﬂmm.bb ﬂmi\#h BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT
PA, .

1. SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL IN ACCORDANCE WITH SECTION
1714.8.3 OF FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
LABELING TO COMPLY WITH SECTION 1714.8.2 OF THE FLORIDA BUILDING CODE.

F.B.C. (Non High Velocity Hurricane Zone)

24 GAGE GALVANIZED BERTHA STFEL STORM PANEL L.6/RE.
(2.25" DEEP) DRAWN BY:

EASTERN METAL SUPPLY, INC e

© 2008 TILTECO, INC.

4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407

> Il
=i O TILLIT TESTING & ENGINEERING COMPANY

-, / TiLIEC O e

FLORIDA Lic. § 44167 FE |

Ay £355 N.w. 38th, St, Ste. JOS, VIRGWW GARDENS, F1. JI166] PHONE: (561)209-8263, FAX: (561)841-1716 08-142
R e R e e s 7 T30 T T TR o
WALTER A. TRLIT Jr. P.E 1| ow 05211 /i 3 | I
I I

VR 1 SHEET | OF &




14.845" (TOTAL WIDTH) —————rj

M 12.000" (EFFECTIVE WIDTH) ————{ ,v
! *’i - !
rmnn;ML +.500" ——{59, 38.1'.1 w ﬁ .500"
— L
/

4

N s ./[\J / / . - N«Ww
| 2.125% 3891 — 2125" }— o
FULL PANEL W/ HEMMED EDGES

N | WP
~ 2.125% b—3891"— 2125 -
OPTIONAL FULL PANEL W/0 HEMMED EDGES

B.845" (TOTAL WIOTH)
6.000"(EFFECTIVE WIDTH)
500"

15.119" (TOTAL WIDTH)
12.000° (EFFECTIVE WIOTH) —
g.u%.'ﬁhel_.lag.tl«_ ﬁ, 500" 1.500) I_
HCABLE "N 1 .
/
\ /

OPTIONAL HALF PANEL W/0 HEMMED EDGES

.250*

3.750°
J.500"

$.118" (TOTAL WIDTH)

WE WIOTH} ﬁ

@ SOLID STORM PANEL

SCALE = 3/16" = 1°

TOP TRACK
(SEE COMPONENTS)

3" CONCRETE ANCHORS (SEE mntmnEQJu.\_
A or:

_— 0 D |
O rre Ty |

S 50 O N 0 [ R [ R U UG S ) VU iy O 0 Bt

_|Inl®.1! T 3l {1 il

L-BOTTOM TRACK
(SEE COMPONENTS)

TYPICA

_.l‘\«. Max. GAP 1/4" Max. Qvlﬂ

1/4" 304 SERIES

g
L
=

_lh.aeaxL
© .STUDDED ANGLE

608315 Aum. ALLOY
SCALE : 3/8" = 17

DETAIL

275X 102y e 304 seres
062" S5, STUD RIVETED
v
T

® 3" Hax "y

SCALE : 3/8" = 1"

)
2e70° g 3.006" Mox. ——2.470"
.4, '
%\/.Bm: 2.470%
/ T7 R.250"
L
Vit R250" r128” 125" R.250" R.125"
- T : _r T T b ; .
R 2 3 Az R.200" X 075
DAY R.125% 2’ % R Typ.
- S Y% 7 : S
!.Wd A Y 3 ~{-.075" PN
. ~ A o7s* d
1574 & 3t |
TM.EQ
. FULL R. 2.591"
——2.250"- 2.250"
2.591 2591" @ *U” HEADER

_.I.Qmax

093"

1: STUD W/ DIE CAST ZINC
NICKEL PLATED WING NUT

CIOWY

SR o Dl
T rnp\r.mw\mfn(

1407

11117

—

s

t o~ Min 085"

ROUND HOLE AT PANEL @ KEY HOLE WASHER
NQYN.\Oz 70 acv J105-Hi54 A, ALLOY

SCALE ; 3/8" = 1"

786"
7O PLATE 543 :
SECTION A~A N . WA 4 o*
el 2T ATS -666"  l730 1
NS +| |
R F.B.C. (Non High Velocity Hurricane Zone)
I ; 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL] o e,
539 P e ] (2.25" DEEP) oRAWN BY:
471" (56 - 05,/12/08
T m EASTERN METAL SUPPLY, INC e
585 Nete 2~ ILIECO ixe. e 258 VST Roos oawe
TILLIT TESTING & ENGINEERING COMPANY ) M L L 33407 08—-142
@ STUDDED PLATE @ SNAP_CAP 6353 K et ov, Ste. 05, VAGNM GAOENS, L J3168 PHONE: (561)209~8263, FAX: (561)841-1716
506375 ALLOY 6063-T6 ALLOY £8-0006719 v Ko “ il “a\gv 2o e _ﬁ prscaenon [ o ORAWING No
wor . e . PE oD g5-271 ]
Bt ST Y e o ST F e o <




. tarl fe il TAPCONS, ELCO e /Te e
B e Fnmare oo \vﬂﬁan " Cont. Nﬂﬂmﬁﬁm@»tﬁ&ﬂ%ﬁzﬁ PANELIATE, ZAMAC. v&mﬁn R
e S TG . CALK—IN OR CF TAP-GRIP N CALK~IN OR CF TAP—GRIP R CALK—IN OR CF TAP~GRIP 3
ANCHORS. (SEE SCHEDULE FO. 3 ANCHORS. (SEE SCHEDULE FOR ANCHORS. (SEE SCHEDULE FOR 3 ANCHORS. (SEE SCHEDULE FOR 8
SPACING). 7 3 SPACING). T SPACING). 7 3 SPACING). o | o
; 3
S === = 1 TR / ®
B L PouRED - m ] | | = b POURED E f ;
CONC
POURED REQUIRED I 8 POURED CONCRETE ] n T
S
CONCRETE | [ T AN p 2 CONCRETE _ f mmn_samul/ S R
REQUIRED < sox ) [S) D oE W 3%
NG B R : O NG BREL I
_ | (@) cont. | “ /ﬁ | —) 1 _ _
N
N A o Nl _ _ _
W
_ n d _
_ ® 1" MMM —] . m _ _ ® @ * |
o SEPARATION TO I 3 @
3 GLASS GF WINDOW _ _ o 8 _ 1
| m OR'S. G D. 4 | | ¥ Q
3 | e o | _ 2
3 (™)
A v A _ g A | i y A <
v\ W 2 a v ¥ &
Ti. MINIMUM — _ /x\ _ ] 4 7 Sziciht r M “ 77 MINIUM | _ W
SEPARATION TO | o SEPARATION TO 5 SEPARATION TO GLASS 4
GIASS OF WINDOW _ E . . | g GLASS OF WINDOW 2 OF WINDOW OR S. G. D. w _ a
OR S. G D. 2 l/4” 9220 x 34 3 OR'S. 6. D. g =
- g doirs w/ 7/8” x ﬂ i & E
— _ ~ W“NNQ :MZO NUT @ % _ _ * ﬂ _ ~ W_
" . € ———— S z 1/4" 9-20 x 3/4"
_ H _ _ Ok FINISHED WALL _ m _ g mem W/ w\m\ 5 _ _ N
g _ o (/ sTUCCO) _ 3 332 e M @ | g
. _ | § " . C. d z
_ _ 3 ! _ 1/4* 8-20 x a
% = 4 _ _ A X 3/4" BOLTS W/ _ I ¥
— 7/8" x 3/32" ® %
h X _ s 1 * {A(n vS.\ @ _ | _ _
Q S 12“ 0. C. 5
] POURED g \7\_ g
POURED - M. _ E - Concre ~ | o Conerere § | £ POURED a y m |
CONCRETE 9 |
CONCRETE 1 8 _ OR CONCRETE BLOCK WALl : | 1 R oncReTE ] | .
OR CONCRETE = BLOCK WALL > | i REQUIRED BLOCK WALL K
BLOCK WAL N _ REQUIRED === 1 | REQUIRED =~ [
- LA
= HH \. T\t\‘@ Cont. \uw Cont.
i I T
TAPCONS, RED HEAD DYNABOLT Y TAPCONS, RED HEAD DYNABOLT _ TAPCONS, RED HEAD DriAEOLT /| | |
TAPCONS, PED HEAD DYNABOLT 7/ (8LOCK ONLY), ELCO male/femate S (BLOCK ONLv), £LO mole/femcie | &) con. (Brook Ny, ELGD maraiemal
(BLOCK ONLY), ELCO mole/female PANELMATE, ZAMAC NAILIN, ‘Q PANELMATE, ZAMAC NAILIN, PANELMATE, ZAMAC NAILIN, _
PANELMATE, ZAMAC NAILIN, Cont. CALK-IN OR CF TAP~GRIP CALK—IN OR CF TAP-GRIP CALK—IN OR CF TAP-GRIP
CALK=IN e,m nm mwn.nmmwm ror mummmmw.. (SEE SCHEDULE FOR ANCHORS. (SEE SCHEDULE FOR ;zoz%w. (SEE SCHEDULE FOR
ANCHORS.  (SEE - SPACING). SPACING).
SPACING). SECTION @ ANCHOR
A _ - WALL MOUNTING INSTALLATION WALL MOUNTING INSTALLATION BUILD OUT INSTALLATION
i
| | 3 SECTION 2 scue - /8= 1 SECTION 3 scue 35 - 1
—0 i SECTION 4 SCALE : 3/8" = 1
_ ) —_—
Ly
Ly
A\ 7 £
Ry
S || 78 x sz H
) Wi Wit &~
u 1 127 0. C g E D. = EDGE DISTANCE
\ ErEk,
POURED Al _ 3
CONCRETE H $
OR CONCRETE
BLOCK WALL _ |
REQUIRED
“ R F.B.C, (Non High Velocity Hurricane Zone
b Cont. g. Y
8 ©2008 NLTECO, ING. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL LG /RE.
o
SECTION @1. STUD NOTE FOR COMBINATION OF SECTIONS : (2.25" DEEP) DRAWN §Y:
WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE EASTERN MET AL SUPPLY INC 05/12/08
WALL MOUNTING INSTALLATION — _ . fnd
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. ILIECO i s 5 s o
: Y= WEST L FL. 407
SECTION 1 soue: 3w =1 T S S o ool v Gear-ime 08142
CIE : DETAIL OF SECTION @ STUD VALID ALSO FOR : Fax - - P T TR T DRAWING No
T T CUNING INSTALLATION' - SECTION 2 (T0F) WALTER A Ta o, PE. .=_$“ o0 05-277 vm »\ﬂ_ o ” it !
FLORIDA Lic. # 44167 P T < [ i SHEET 2 OF i




TAPCONS, ELCO male/female
PANELMATE OR CALK—IN ANCHORS
(SEE SCHEDULE FOR SPACING).

POURED CONGRETE

REQUIRED —__

ALTERNATE
LEG LOCATION

1/4° 9-20 x

A

/4" BOLTS W/
7/8" 4 x 3/32"

WING NUT @ /
12" 0. ¢

5

I\

¥

17 MINIMUM
SEPARATION TO
GLASS

3/32" WING 'NUT
© 12" 0. C

ALTERNATE
LEG LOCATION

o

1/4" #-20 x 3/4"
BOLTS W/ 7/8" 9 x

— Max. PANEL LENGTH (SEE SCHEDULE)

1

N

TAPCONS, ELCO male/female
PANELMATE OR CALK—IN xznlomm\\
(SEE SCHEDULE FOR SPACING).

b
POURED CONCRETE
REQUIRED

CEILING & FLOOR

MOUNTING

INSTALLATION — SECTION 5

TAPCONS, ELCO male/fernale
PANELMATE OR CALK—IN ANCHORS
(SEE SCHEDULE FOR SPACING).

E D

POURED CONCRETE / _.._
REQUIRED
>~ "=
T
_ 7
.
o X
_ | &3
I |
A | | 1®Qoa~.
| o
I |
i t
| o
i
_ | Lo
_ [
A I
I\l
_ v T
| |
1" MINIMUM _
SEPARATION TO —
GLASS [
|
_ 7/8" & x 3/32"
| WING NUT ©
\_w 12”0. ¢
[

-— Max. PANEL LENGTH (SEE SCHEDULE)

TAPCONS, ELCO male/fernale
PANELMATE OR CALK—IN ANCHORS
(SEE SCHEDULE FOR SPACING).

|
[3%)

POURED CONCRETE

REQUIRED

A~ E

D.

CEILING & FLOOR MOUNTING

INSTALLATION — SECTION 6

SCALE : 3/8" = 1" SCALE : 3/8" = 1" SCALE : 3/8" = 1"
-
SIDE WALK BOLTS ARE 3/4'8x3/32"THICK
HEAD MACHINE SCREW W/LENCTH
AS PER NOTES A2 & B.2 (SHEET 1)
*
TRUSS HEAD BOLTS ARE 1/2°x1/8"THICK
HEAD MACHINE SCREW W/LENGTH
E O. = EDGE DISTANCE AS PER NOTES A2 & B.2 (SHEET 1)
(SEE_SCHEDULE ON
SHEET 5 & 6 OF 8)
F.B.C. (Non High Velocily Hurricane Zone)
NOTE FOR COMBINATION OF SECTIONS : ©2008 TLTECO, INC. 24 GAGE GALVANIZED BERTHA STEFL STORM PANEL LE/RE
»
WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE « 2.25 QDWE DRAWN BY:
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. 05/12/06
__—- _ ECO EASTERN METAL SUPPLY, INC oare:
INC. mwmm immmw. mghbhhmh. DRIVE
WEST PALM \CH, . 33407
e, o S e e is PHONE: (561)209-8263, FAX: (561)841~1716 08-142
hove : (J0AJAT1~1530 . Fax : (3038711531 e | s T ] TR DRAWING Mo
PE v | o os-zrr szl 3| I N
67 T | T T ] T T SHEET 3 OF j

TAPCONS,_ELCO mole/female
PANELMATE OR CALK—IN ANCHORS
(SEE SCHEDULE FOR SPACING).

POURED CONCRETE

CALK—-IN

_ ALTERNATE
LEG LOCATION

1 MINIMUM
SEPARATION TO ~-1
GLASS

Max. PANEL LENGTH (SEE SCHEDULE)

* 1/4" 9-20 x |
J/a" BoLTS W/

_ 7/8" ¢ x 3/32"
WiNG NUT ©

_ 12”0 C.

— —1F—

Cont.
|

vz

TAPCONS, ELCO male/femals
PANELMATE OR CALK—IN xznm%xr
(SEE SCHEDULE FOR SPAGING).

2t

REQUIRED

CEILING & FLOOR MOUNTING

(<

| S—

'OURED CONCRETE

ELCQ mole/female PANELMATE

WW..M SCHEDULE FOR SPACING)

CALK—IN ALL POINTS SOLID-SET Q\I ]

ELCO mols/fernale PANELMATE
@ ‘RA "9-20 SIDEWALK BOLT OR @
/1/4°0—20 TRUSSHEAD BOLT *

'SEE SCHEDULE FOR SPACING)

ALL POINTS SOLID-SET OR

1/4'9-20 SIDEWALK BOLT OR ©
W/1,/476—20 TRUSSHEAD BOLT *

7/8" 8 WING NUT ONLY
APPLICABLE AT MALE
PANELMATE (TYP.}

[

POURED = [
CONCRETE N |
REQUIRED i
I/ i
S
W
_ |
¥
1 MINIMUM |
SEPARATION 70 —|
GLASS |

Q
POURED g
CONCRETE
OR CONCRETE 7

BLOCK WALL
REQUIRED

Max. PANEL LENGTH (SEE SCHEDULE)

WALL MOUNTING INSTALLATION (D. M.)

INSTALLATION - SECTION 7

— SECTION 8

SCALE : 3/8" =

v




MAXIMUM DESIGN PRESSURE RATING "W'(p.s.f.) AND
CORRESPONDING MAXIMUM PANEL LENGTH "L” (Ft.) SCHEDULE

POURED CONCRETE | Max. PANEL LENGTH
OoNCRETE BLOCK WAL VARIES 37y MAXIMUM DESIGN 24 an«m;mﬂmm
REQUIRED Hox. i PRESSURE RATING
W (p.5.1.
(o) MouNTING W/0_ | Mountivg Wy | Mounming wy
" HEADER (2| "™ Hesper (2)) come. (2) « (3
POURED CONCRETE
CUT PANEL o CONCRETE BLOCK WALL +35.0, —40.0 9'-8" 9'-8" 9’-8"
REQUIRED
C ] +40.0, ~45.0 92" 9'-2" 9'-2"
CONCRETE ANCHORS
@ 12" 0 C
\} +45.0, -50.0 8'-9" 8'-9" 8'-9”
]
27 x 4% % 125" - = ——— = e . e
2105211t OR 6063—T6 ALLOY - = +50.0, ~55.0 8'—4 8'—4 8'—4
Cont. Alum. ANGLE %
8 @\ +60.0, ~65.0 7'-8" 7'-2" 7'-8"
(P, R R
Q\DMW A N\U\QBM 1/4" # BOLT 4" x 4" x 072" +70.0, —80.0 7'-2" 6'-3" 7'=-2"
- - 6 24" 0. C. 3105-H14 OR 6063~T6 ALLOY
SCALE: 1/4" = 1 W/ IACKNUT Cont. Alum. ANGLE ——
NOTE: MINIMUM PANEL LENGTH IS 3'-0"
POURED CONCRETE
povneg concrere ~ CASE B (Plan) 98 Sonerere
BLOCK WALL — cowr.
REQUIRED SCALE: 1/4" = 1 REQUIRED (OPEN POSITION +}
TAPCON ANCHORS OR
ConcReTE ALL POINT SOLID-SET
fogHoRS O M. (SEE SCHEDULE FOR SPACING) S
o —1.50 " / + NOTE: SNAP CAP
POURED CONCRETE y A REMAIN CLOSED AT NON
OR CONCRETE BLOCK HURRICANE CONDITIONS.
| WALL REQUIRED

7.000"

2" % 2" x 055" 70 _
"% 5% x 085"
%03“. W\E“ ANGLE ALTERNATE LEG LOCATION

- —l

Q
!
8
&
7 @ »
OR .080" 3105-H154 o8 { b | kaﬁhﬁw&
SHEET METAL Alum. S i ¥ EPATATI!
T UTE g separanion = = m { 2peom
ﬁ A esss T 8 7/8" x 3/32"
| ~ WING NUT @ EA
\ i @ STUD
| & POURED
CASE C Nh\Q\.Q v Mm mm&mnmm OR
SCALE: 1/4" = 1" i mwwmvmﬂ#h
@oozﬁ
Sy CASE E (Plan) gl SECTION @ STUD - (cPe rosmon )
5063-T6 ALLOY (SEE SCHEDULE FOR SPACING), TYP. TOP/BOTTOM
Cont. Am._ NGLE SCALE: 1/4" = 1" |\
_M:.QM, 0. ¢ w mmcwmwnmmhm%%ﬁmx CONT.
N WALL REQUIRED (OPEN POSITION +)
§ WALL MOUNTING INSTALLATION
SECTION 9
on Concaere. , SCALE : 3/8" = 1
BLOCK WALL
\»mmogxmu F.B.C. (Non High Velocity Hurricane Zone)
©2008 TLIECO, INC. 24 GAGE GALVANIZED wmkd.i STEEL STORM PANEL LG/RE.
END CLOSURES DETAILS (2.25" DEEF) SRAMN BY;
05/12,/08
CASE D (Plan EASTERN METAL SUPPLY, INC pare:
ILIECO
SCALE: 1/4” = 1" INC. 268 WEST ROADS DRIVE
- = EACH, FL.
nw\uw\.»@ wmw:m@.mn Mndﬁ»ﬁanc%% uuuhwm PHONE: (561)209-8263, mcm. «MMO%TCE 08~-142
Dﬂxummamwgwﬂm. (303)871- 1511 v Mo | pescawion | oaTt | mev. e | DESCRIPTION T oo DRAWING No
WALTER A. TILLIT dr. P.£. T 2 T i, 1 -
FLORIDA Lic. # 44167 FE T —1 { SHEET 4 F




THIS SCHEDULE INDICATES NM%W\EVMD! m.km..mmm ﬂMh»Qtﬁ
IGN LOAD :
NN MAsTHON, PANEL LENGTH FOR 4 GIVEW £ D. = EDGE DISTANCE
gesien LoAd MUST BE VERIFIED AS PER SCHEDULE SPACING _SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCTURES *
MAXIMUM ANCHORS SPACING FOR E. O. = 3 1/2" #* MAXIMUM ANCHORS SPACING FOR E. 0. = 3 1/2" »+
HMAXIMUM ZAMAC NAILIN] %n:nxmpw o ﬁsmk MAXIMUM TaA A APPLICABLE TO | wamaum
TAPCONS CALK~IN SOLID-SET PANELMATES CF TAP—GRIP SECTIONS £ & o TAPCONS CALK—IN SOLID~SET PANELMATES CF TAP-GRIP SECTIONS # & | PANEL
PESIGN LOAD REQ 1D OViAsoL] ANY COMBINATION] LENGTH o i RED HD. DYNABOLT : ANY COMBINATION LENGTH
W (ps.t) 70 0 70 0 70 o 0 0 70 70 0 0 OF THEM () p-s:t. 0 o 4 0 0 0 o 170 0 0 0 0 OF THEM ()
CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY CONCRETE | MASONRY | CONCRETE | MASONRY { CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY
12" - 127+ - 12" - - - 12* - 27 - 1 & 3 (TOP) 2" - 2%+ - 12" - - - 2" - 2" - 1 &3 (T0P)
12" 9" 12"+ 12" 12" 7 2" 12" 12% 12" 12* |9 1/2" | 1. g*tBOTTOM) 12" &” 127+ 127 127 5" 127 127 12" 12" 12* 7" 1. 9% (goTFOM)
12" - 12+ - 12" - 12" 12" 12* - 12" - 2, g*(ror) 12" - 124 - 12" - 12" 12" 12" - 2" - 2, g*(ToP)
127 9" 12"+ 12 12" 7 - - 12" 12* 12* |9 1/2") 2 (BOTTOM) 12* & 1244 12" 12" 5" - - 127 12" 12” 7 2 (BOTTOM)
+40.0, —45.0f 12" 9" 2%+ 12" 2" 7" - - 2" 12" 12" | 12"} 3 (s0TTOM) >+40.0-450] 12" 6" 127+ 12" 12* 5" - ~ 12* 12" 12* 7 3 (80TTOM)
o 12" - 12+~ 12" - - - 12” - 12" - 4 (T0P) 8'-0" 0 12" - 12m| - 12" - - - 12" - 12" - 4 (TOP) 8'-0"
1£55 127 9" 124} 120 | 12 7 - - 12" 127 | 127 |e 12| 4 worow) | OF 150.0,-550 | 127 & 12| 127 | a2 5 - - 120 | o1zn | gz 7 4 (gorowy | OF
LESS LESS
M . M 5 (70P/BOTTOM)) " B » 5 (TOP/BOTTOM,
9 - - - 10 - - - 12 - - - Qw (rop) 7 - - - 7 - - - o2 - - - «w ) 4
12" - _ _ 12" _ - - 12" - - - & (TOP) 10" - - - 10" - - - 12* - - - 6 (TOP)
71" - - - 1" - - - 12* - - - 6 (BOTTOM) 8" - - - 8" - - - 12" - - - 6§ (BOTTOM)
70" - - - 1 - - - 12* - - - 7 (BOTTOM) 8" - - - 3" - - ~ e - - - 7 (BOTTOM)
- - - - 2" 6" 12~ 12" 12* 12" - - |8 (Tor/BOTTOM) - - - - 12* - 12" 12* 12* 6" - - |6 (ror/BOTTOM)
12" - 127+ - 12" - - - 12* - 12" - 1 & 3 (TOP) 8" - 77+ - 8" - - - 127 - 5 1/2" - 1 & 3 (TOP)
12" 6" 124+ | 12° 12" i 12* 12* 12” 12" 12* |6 172" | 1. 9" (eoTTOM) 12* 5 1| 10" 12" 4" 12" 12” (3 I V2l B 5% 1. g*(8orTom)
1z" - 124 - 12" E 12" 12" 12* - 12" - 2, 9%(rop) 12" - prver| - 12" - 12" 12" 12* - 9* - 2, 9*(r0P)
12" 5 12"+ g2° 12* 5" - - 12" 12* 12" |6 12" 2 (BOTTOM) 72* 5 117 0" 72" 4" - - 72 19 12"} 9" 5" 2 (BOTIOM)
12" 6" 12T+t 127 12" 5% - - 12¢ 12" 12" |6 1/27] 3 (BOTTOM) 12" 5" 11 107 12" 4" - - 127 19 172" 9" 5" 3 (BOTTOM)
+40.0, 450 127 - 12" - 12" - - - 12~ - 12" - 4 (ToP) >8'-0" >+400, -450] 127 - T 12" - - - 12* - 9" _ 4 (T0P) S8g"
0R 12" 8" 2" 12" 12" 5" - - 12" 127 12" |6 1/2°) 4 (BOTTOM) 0 70 12" 5" rie o 12" 4" - - 12" |9 12" 9" 5% 4 (BOTTOM) ©
5 (TR BoTToM)| 98" N 98"
(&S 7 - - - 7 B - _ o _ _ - ¢ ey 4500, -550] 5 _ _ - e _ = N ~ ~ I G %wn“www“xoi
0" _ - - 10" - - - 12° - - - 6 (TOP) 8" - - - 7" - - - o 12| - - - 6 (TOP)
8" - - - 8" - - - vzt - - - 6 (80TTOM) &” - - - 6" - - - 8 1/2"| - - - & (80TTOM)
8 - -~ - 8* - - - 1* - - - 7 (BOTTOM) &" - - - 6" - - - 8" - - - 7 (BOTTOM)
- - -~ - 12" - 12" 12" 12* 6" - - |8 (Tor/BOTTOM) - - - - 12* - 12" 12* 12" 5" - - |8 (ror/B0TTOM)
+  ONLY TAPCON ANCHORS OR ALL POINT SOLID—SET ALLOWED FOR
FACTOR MOUNTING SECTION 8.
ACTUAL E. D. F 7T
++ ANCHORS SPACING ONLY APPLICABLE TO ZAMAC NAILIN ANCHORS
TAPCON SOYNABOLT CALK=IN SOLID—-SET CF TAP—GRIP
LOANELMATES *  SEE SHEET 7 & 8 OF 8 FOR ANCHORS TYPE & SPACING
= _ 86 75 78 1.00 FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.
2 12 _ 71 50 - 80 ** MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE. F.B.C. (Non High Velocily Hurricane Zone)
FOR E. D. LESS THAN 3 1/2", REDUCE ANCHOR SPACING BY
. ” 50 _ ~ B MULTIPLYING SPACINGS SHOWN ON SCHEDULE BY THE FOLLOWING ©2008 TLTECO, INC. 24 GAGE GALVANIZED mmmﬁ.i STEEL STORM PANEL L1.6./R.E.
z . FACTORS. (Min. E. D. FOR CALK—IN ANCHORS & ELCQ 525 : (2.25" DEEP) DRAWN BY:
. 1" 35 _ _ _ _ PANELMATE IS 2 1/2", AND 3 1/2" FOR SOLID—SET ANCHORS). § s ) i 512,08
% : FOR THIS OPERATION TO BE MADE REDUCED SPACINGS RESULTING .~ % xt'l e EASTERN METAL SUPPLY, INC
FROM APPLYING ABOVE FACTORS : 4 H L _ _ —l _ m cO [ DATE:
SHALL NOT RESULT ON SPACINGS LESS THAN 3" FOR ALL >>§ém . eRea { INC. 268 WesT Rowos oRvE
(EXCEPT +4.5" FOR RED HD. DYNABOLT ANCHORS). JILUT TESTING & ENGINEERING COMPANY PHONE: (S61)200~8265, FaX (361)8471716 08~142
” Us.s. Eesmmw%gﬁ o Cossazi=tast v | oescrenon oa_| v e | oesommrn DRAWING No
WALTER A, TILLIT Jr. P.E, | OLD 05-271 5/12/08] 3| .
FLORIDA Lic. # 44167 z | 1 ] 1 SHEET 5 © 4




.s.f.) AND CORRESPONDING MAXIMUM ANCHOR

SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCTURES *

£ D. = EDGE DISTANCE
MAXIMUM ANCHORS SPACING FOR £. D. = 3 1/27 **
Y = APPLICABLE TO | MAXMUM
TAPCONS ZAMAL: NAILIN, CALK~IN soLD-SET PANELMATES oF Tap—GRip | SECTIONS # & | PANEL
bw\m\ﬂz hwwb RED HD. DYNABOLT ANY COMBINATION| LENGTH
p-9.f. 0 ) 70 0 ) 0 ) 0 0 ) 10 0 oF HEM |17 (r)
CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY
8" - 7" - 9* - - - 12" - 5" - 1 & 3 (T0P)
12 12" 11t o0 12" 4 12" 12" 12n |9 1/2" ) ¢ 50 | 1. g*(sorTOM)
12* - JIvvEl - 12* - 12" 12" 12" - 9" - 2. g*(ror)
12° 5" 117 10" 12" 4" - - 127 {9 1/2" 9" 5" 2 (80TTOM)
THIS SCHEDULE INDICATES REQUIRED ANCHOR SPACING >+50.0,-55.0 v . .t “ - - - - v e 12 B B 3 (8OTTOM,
e e et e T R B S T It IRt PO
WEVER MAXIMUM PAN! » ». " " .
nmmaz LOAD MUST BE VERIFIED AS PER SCHEDULE 0 12 - IR A I 12 - - - 12 - g - 4 (TOP) or
ON SHEET 4 OF 8.
+70.0,-80.0 12" 5” R T 12° 4" - - 12" 9 1/2" 9" 5% 4 (BOTTOM) LESS
B . N 5 (TOP/BOTIO))
5 - - - s - - - 8 - - - 7 (10P)
8" - - - 8" - - - 10 172" - - - & (TOP)
5" - - - 5" - - - 9 - - - & (BOTTOM)
& _ _ - & - - - e 1| ~ - - 7 (BOTTOM)
- - - - 12* - 12" 12" 12" 5 - — |8 (Tor/BOTTOM)|
ANCHORS SPACING FOR E. D. = 3 1/2% » MAXIMUM ANCHORS SPACING FOR £. D. = 3 172" »
MAXIMUM % APPLICABLE T0 | wariun " > / APPLICABLE TO | s
MAXIMUM ZAMAC NAILIN/ ALK—IN SouD-SET FANELMATES cf tap—crie | SECTIONS f & | PANEL TAPCONS ZAMAC NaILIN, CALK—IN S0LI0-SET PANELMATES CF TAP-GRIP | SECTIONS # & | PANEL
DESIGN LOAD TAPCONS FED_HD._DYNABOLT AL ANY COMBINATION| LENGTH oesien hwwu RED HD. DYNABOLT a ANY COMBINATION) LENGTH
W (ps.f) o 0 o 0 70 0 0 0 ™0 0 o 0 OF THEM 7)) (p.s.f 0 0 0 0 0 0 70 0 70 70 0 0 OF THEM )
CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY
6" - 5" ++ - 6" - - - g 1/2" - 4" - 1 & 3 (T0P) 5" - LAt - 5" - - - 8" -~ 3" - 1 & 3 (T0P)
11" 12" g"++ 8" " 3" 12~ 12" 12* & {7127 ¢ |1 9*(sorroM 10" 3" g+t 7 10" 3" 12" 12* 12" 7 |6 12 |3 127 ) 1, 9t soTIONM)
1° ~ Jerr | - " - 12 | 2t |2 - Jrwe| - 2, s*(or) 10 - |e| - 10" - 127 | 12t | a2t S ZA 2, g*(roe)
17" 4" gn+t 8" 1 3" - - 12" 8" {7 12" <" 2 (BOTTOM) 10" 3" 8"+t 7" 10" 3" - - 12" 7" 6 1/2° 13 1/2"| 2 (soTTOM)
>+50.0,-55.01 11" 4" v+ 8" 1" 3" - - 12* 8" 7 172" 4" 3 (BOTTOM) >+50.0,-55.0] 10" 3" g+t 7" 10" 3" - - 12" 7 & 1/2" |3 1/2" |} 3 (80TTOM)
>8-0" 84"
0 1" — g+ - 1 - - - 12” - 7 102" - 4 (T0R) 70 o 10" - g7+ - 10" - - - 12" - & 1/2" - 4 (108) 0
+70.0-80.0 1 11" 4" s 8" 1" 3" - - 12" 8" |71/2"| 4" 4 (8oTTOM) | 8'-4" +70.0-800 | 10" 3* g+ 7" 10" 3" - - 12* 7t |6 172713 127 ¢ (Borrom) | 95"
B B 5 (T0P,/BOTTOM) R R " 5 (708 /BOTTON,
e _ - - 4 - - - s e| - - - > tror) 4 - - - 4 - - - s | - - - (e «\G& /
" - - - &” - - - 8 1/2" - - - & (TOP) 8" - - - 7 12" - - - & (TOR)
5 - _ - 5" - - - 7" - - - & (BOTTOM) 5" - - - §1/2° - - - 6 (BOTTOM)
5 _ _ _ 5 - - - 7" - - - 7 (BOTTOM) 4" - - - 5 - - - 7 (BOTTOM)
- - - - &* - 72" 12* 12" 5" - ~ |8 (Tor/BOTTOM) - - 12% 12~ 12* - - —~ |8 (ror/B0TTOM;)
+  ONLY TAPCON ANCHORS OR ALL POINT SOLID-SET ALLOWED FOR MOUNTING SECTION 9.
FACTOR
; ++ ANCHORS SPACING ONLY VALID FOR ZAMAC NAILIN ANCHORS, . . ,
ACTUAL E. D. TR T L 0 B Sy F.B.C. (Non High Velocity Hurricane Zone)
T "~ SOUID -5t CF TAP-GRIP i s ”
TAPCON \\nwuﬁwwwmm CALK—IN OLID-SET * mwm%x MMMMMF@%Q% OF 8 FOR ANCHORS TYPE & SPACING FOR INSTALLATIONS INTO WOOD w _Nea\.w..aﬂmm@ NG, 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL LG /RE.
i s
P 5 25 100 " s (2.25" DEEP) DRAWN BY:
3" - - . . . - f
MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE. 05,12/08
s ~ _ FOR €. D. LESS THAN 3 172", REDUCE ANCHOR SPACING BY MULTIPLYING SPACINGS SHOWN EASTERN METAL SUPPLY, INC 72
2172 71 .50 .80 s fnd
ON SCHEDULE BY THE FOLLOWING FACTORS. (MIN. E. D. FOR CALK~IN ANCHORS & ELCO ILIEC O ine. 4258 WEST POADS DRIVE
o _ 50 _ — - PANELMATE IS 2 1/2", AND 3 1/2" FOR SOLID~SET ANCHORS). LT TESTING & ENGINEERING COMPANY WEST PALM BEACH, Fl. 33407
2 : FOR THIS OPERATION TO BE MADE REDUCED SPACINGS RESULTING FROM APPLYING ABOVE . ot S e o8, G, SDENS o TTIEE PHONE: (561)209-8263, FAX: (561)841-1718 08—142
i 12 35 _ _ _ _ FACTORS SHMALL NOT RESULT ON SPACINGS LESS THAN 3" FOR ALL ANCHORS (EXCEPT +4.5" Fhond  [25ajert 1530 . rox © cioseri- 1331 T R TR R e B
FOR RED HD. DYNABOLT ANCHORS). WALTER A TLLT Jr. P.£. P 2T LI ]
FLORIDA Lic. # 44167 PR i <1 T SHEET & OF &




1/4°¢ LAG SCREWS @ 6"

.C. W/1 1/27 MIN.
THREADED PENETRATION
TG EXISTING WOoD
HEADER,

Mox.

sa0"
= .250

-—(2) cont.

—®

_
I
|
!
I

WOOD HEADER] !

REQUIRED _

|
|
|
|
I

17 MINIMUM -
SEPARATION TO
GLASS

A

¥
ALTERNATIVE 1

—®

i
_
| 1/4" 8-20 x
_
_

Max. PANEL LENGTH (SEE NOTES BELOW)

374" BoLTS W/
7/8" 8 x 3/32"
WING NUT ©
EVERY STUD ©
127 0. €

£0 €0
(1]
INAN

2" x_ 4" PLATEY

] !

: ILH Cont.

¢
N 1/4°¢ LAG SCREWS @ 6”7
T.C. W/ 1/2" MIN.

THREADED PENETRATION @

REQUIRED MIDWIDTH OF PLATE.

N

ALTERNATIVE 2

1/4’0 LAG SCREWS @ 6"
O.C. W/1 1/2" MIN.
THREADED PENETRATION
7O EXISTING WOOD

HEADER,
~a x
R
1
-
I
“ —(2) cont.
\
|
L &
WOQD HEADER 4 m
REQUIRED j i
A e L 4
SEPARATION TO 5
GLASS [ =
| 8
b | £
e 4, &
o -
S
_ 1/4° 9-20 x M
| (32 Bolrs wy, &
7/8" 8 x 3/32"
| |#ne wre" §
EVERY STUD ©
\Y 1270 ¢
. .. *
L |
_ ]

i 3 /|9 Cont.

| 1740 LAG SCREWS © 6™

0.C._W/1 1/2" MIN.
THREADED PENETRATION ©
v | MIDWIDTH OF PLATE.

2" x 4" PLATE]
REQUIRED

ALTERNATIVE 4

000" Min.

WOOD HEADER
REQUIRED

17 MINIMUM

7

GLASS

WooD STUD
@ 24" 0. C.
REQUIRED

A

1" x 2" x 125" (Min.) Alum.
TUBE W/ 1/4"8 LAG SCREWS
@ 6" 0. ¢ W 1 1/2" Min.
THREADED PENETRATION

TO EXISTING WOOD HEADER.

L 500"
Mox.

[— SEPARATION 70—

S
8
i
_

I

“ iuvno\:.
_ N
O
!

_

!

_

1/4" 8-20 x
3/4" BOLYS W/
7/8" 4 x 3/32"
WING NUT @
EVERY STUD

® 120 C

Max. PANEL LENGTH (SEE NOTES BELOW)

(6) cont.

1" x 47 x 125" (Min.)
6063—T5 Alum. TUBE (Cont.)

(2) 1/4°¢ LAG SCREWS @
EACH STUD (MIDWIDTH OF STUD,
2" Min. NOMINAL) AND W/ 2"
MIN. THREADED PENETRATION
INTO EXISTING STUD.

ALTERNATIVE 5

WALL MOUNTING INSTALLATIONS

NOTE FOR _COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

SECTIONS A

SCALE : 1/4" = 1"

1N 1 1/4°8 LAG SCREWS @ 6"
" O.C. W/1 1/2% MIN.
N THREADED PENETRATION
TO EXISTING W0OD
HEADER.
8 x
bR
i i
k T T
8 |
“ N Cont.
X
WOUD HEADER | .l@ S
REQUIRED g
1" MINIMUM | >
SEPARATION TO———] | @
GLASS §
* W
)
_ e
—HA— S VY T £
—A A ! g
| —g
&
8 ! :
i Lt ) | 3
| N E
f : |
1 / ' |
g g
\ . 1/4" 9-20 x
N Cont. 3/47 BOLTS
/). i Tt N e s
WOooD ‘STUD . mﬂwwa WING
@ 24" 0 C
REQUIRED M\wﬂm moéw
1/4" LAG SCREWS © 6"
0.C._W/1 1/2" MIN,
. THREADED PENETRATION €
A MIDWIDTH OF PLATE.

ALTERNATIVE 6

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

Y ]
7" Min. |
SEPARATION TO |
EXISTING GLASS 1/4" 8-20 x 3/4"
U Yaors wy
| 7/8% 8 x 3/32”
WING NUT @
| |&very st
@ 12°0 ¢
1 [ﬂ \P\
A A |
I :
gl 1 j B _.l.— 6) Cont.
\ N8
\ N
t \ N e a6 sorews @ 67 1.
2" x 4" PLATE 0.0 W/ 1,/2° MIN.
REQUIRED .| THREADED PENETRATION ©
x " MIDWIDTH OF PLATE,

NOTES:
INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +60.0,
—55.0 psf AND PANEL'S LENGTHS UP TO 7'-8" .

2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
FINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

ALTERNATIVE 3

F.B.C. (Non High Velocity Hurricane Zone)

© 2008 TILTECO, INC.

/ TLIECO me. \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. J6th St, Ste. 303, VIRGINIA GARDENS, F. J3166|
Pdone ; (305)871~1630 . Fox : (JO5)871-1531

WALTER A TILLIT Jr. P.E.
FLORIDA Lic. # 44167

24 GAGE GALVANIZED BERTHA STEEL STORM PANEL L.G./R.E.
(2.25" DEEP) DRAWN BY:

EASTERN METAL SUPPLY, INC | “0%”

STz e
W, FL. 33407

PHONE: (561)209-6263, FAX: amcwtaim 08-142

aevwe | orsomenow | oam | mevse | brsearnon | b DRAWING No
” D o W\ :\s__ — “ SHEET 7 oF &




1/4" 9 LAG SCREWS ®
4" 0. W/ 1 1/2" Min.
THREADED PENETRATION

EQ

1/4” 8 LAG SCREWS @

4 0C W/ 1 1/2" M.

1/4" ¢ LAG SCREWS ©
4 0.6 W/ 1 1/2" Min.

SECTION @ STUD TYP. TOP/BOTTOM
ALTERNATIVE 8

WALL MOUNTING INSTALLATION

SECTION A

SCALE :

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

174" = 1"

NOTE FOR COMBINATION OF SECTIONS:

FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION,

NOTES:

—65.0 psf AND PANEL'S LENGTHS UP TO 7'-8" .

FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERNG %

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

»,

i CONT. 70 EXISTING WOOD BEAM. / THREADED PENETRATION 7 T THREADED PENETRATION
N i (oPEN POSITION *) TO EXISTING WOOD BEAM..._.) TO EXISTING WOOD BEAM. ___|
L : 174" 8-20 ELCO ’ N 4" x 8" (Min) EXISTING
male/ female 1/4" 9 LAG SCREWS @ Wo0D BEAM REQUIRED. | 4* x 8" (Win.) EXISTING / | 4" x 8 (Min.) EXISTNG
PANELMATE ® 12 6" C.C. W/ 1 1/2" Min. 3 STRUCTURAL ADEQUACY . WOOD BEAM REQUIRED. WOOD BEAM REQUIRED.
0.c W/ 1 7/8" THREADED PENETRATION OF EXISTING WOOD STRUCTURAL ADEQUACY £6. STRLCTIR, abEataey
Min. PENETRATION TO EXISTING WOOD BEAM TO_BE CERTIFIED OF EXISTING WO0D o T o
i HEADER, 51 RECISTERED ENNeER B7 Relisrtnes nomeen &Y Recisiencs EoNEER
5 " CONT. “ TO SHUTTER INSTALLATION. OR ARCHITECT PRIOR OR ARGHITECT PRIOR
==t i | ¥ TALLATION. TO SHUTTER INSTALLATION.
| |
; ! - rEohEe
| | L
| " \M/ T
i
h | 8 |* NOIE: snAP caP (D T0 | | !
| | ¥ |REMAIN CLOSED AT NON 1 i Sy |
} | 8 |HURRICANE CONDITIONS. | i @
LL=T; i 2 | WoOD HEADER | - | & cont. IR cont
} woop HEADER ! & | ReauiRED N i | | i | A
J
1 REQUIRED i ] 1 N T o —h— _ § Hoon mevees ! g | 3
| ! i SEPARATION T ! B | S (2" Min. NOMINAL —0 3 ! 3
H t W H Py 1 9 ! I @ WIDTH) W/ 2" Min. 1 @ i 11@ aQ
1 ! al.@ S ! g | I t PENETRATION. | " + ! ©
| 2 1 1 It} 1 4] I I
1 | 1 g | WING NUT © | s i S i | S
1 | I | 11270, ¢ | 2 | g ! | =
I k \ 3 i 1 -
H 1 & \ | W 1 Wy | In}
1" MINIMUM | = ! . | I a ! 8 J ! @
-] SEPARATION 70 Fo 8 L ' § i |_|?I»| W AL W - _|\(L,L W
1 G [ H ) = \ a 5
- — i S M , — ey g B e — 2 S e 2
" B 3 2 =
e T wil B = | R T : Mo : o | :
3 SEPARATION T0~} SEPARATION TO |
! ! & H L poouss | “ —) m | GLASS ! —® g | oLAss ! —( m
| ¥ B - i 1 S 1 g
1 g 1 | g | &
[ ) ] 1 1 i ;
i , 3 _ ; P ¥ zeeame | | § i " ¢
“ ' 1/4" 8 LAG SCREWS ! ! _, = sinozs @ ! " = “ | =
1 woop e 6" 0cC W/ 1 1/2" 2”7 0. ¢ " " i " "
i I paE | Min, THREADED { \h\_ —h— A A | zxe
| REQUIRED PENCTRATION. @ 2 x 6"
1 MIDWIDTH GF PLATE. ! WooD DECK | \wmmn%mu ALTERNATE LEG (8 I Yoeex
. ! \ ONT. i REQUIRED i LOCATION oot e
L ! (OPEN POSITION *) L | cont. L/ | 7
£ -~ ] . o )
X I - 1 ]
7t : i i
\ | & mowiom
\ | oF puTE [
FR N .o fin. 1
M I/4” 8-20 ELCO - separation 1o | _
/ i wﬂmﬂtwmu - VEXiSTING GLASS _u ._ e s Lo SCREWS © T
s ac w1 e _ 1 @83. " £ 0.C W/ 1 1/2° Min. o nmwnmmmwgm ° 147 0-20 x 4 1ok A AN
IRED in. . . THREADED PENETRATION 3/87 BOLTS W/ . . ,
REQUI jLJ w\\\%n ncw\wwmn 00 W1 1/2" Min. u“m. x 332" 1/4” 8 LAG SCREWS © 7/8" x 3/32
\ . L THREADED PENETRATION WING NUT © 4°0C W/ 1 1/2" Min.  WING NUT @
\ g Rl 12" 0. ¢ THREADED PENETRATION 120, ¢
&
w
,T I ALTERNATIVE 1 ALTERNATIVE 2 ALTERNATIVE 3
wooD
pLae |
ALTERNATIVE 7 REQUIRED onT. CEILING & FLOOR MOUNTING INSTALLATIONS
/ (OPEN POSITION *)
A SECTIONS B SCALE & 1/4" = 17

F.B.C. (Non High Velocity Hurricane Zone)

©2008 TILTECO, INC.

\ LIECO me \

A TILLIT TESTING & ENGINEERING COMPANY
£355 N.W. 36th, St Ste. JO3, VIRGINIA GARDENS. Fl 33166

= /(mlaw. + (30508711530 . Fou : (303)871- 1531

EB-0006719

WALTER A TILLIT Jr. P.E.

FLORIDA Lic. # 44167

24 GAGE GALVANIZED BERTHA STEEL STORM PANEL LG./RE.
(2.25" DEEP) oRAWN 81

05/12/0:

EASTERN METAL SUPPLY, INC g

, FL. 3340

PHONE: (561)209-8263, FAX: NumcmﬂﬂlﬂVao, 08—142

P N L W e e DRAWING No
< “ o B “a\:\a“ s __ _ SHEET 8 OF 8




